o000 o0 #70 2006-1-19 00

5.3 0U4UgQ

0000000000000000000010000000000000 (00000)00
00000z=¢(t) 000000 a=¢(a),b=¢(@) 00000000

b B
[ o= [ o) S

goooobobobobobobob 20b0b10bO0bObObOb0ODbDO2D00 d—@D

dt
gobooboogo2000 (i—fDDDDDDDDDDDDDDDQ&DDDDDDD t-00ogoo

0oooooooo
00000000000000000000 «,y00000 «,v00000000000 z=
o(u,v),y =1(u,v) 000000000000(2,y)-000000 DO (u,0)-00000000

go0oooooooo1ooooooo0obobo0 pOO0O POOOOOOOOOD20O0OO0 Z—fﬂ

b
goboooboobob20000000000000b0000b001000 Az(a d>DD
c

0000000000000 |detA|l=ad—bc/ 0000000000 2 = o(u,v),y = (u,v)

oxr Ox

DDDDDDDDDDDDDDDD(DDDDD)6“nw):dm<g?w@>: gz gz
U, v U, v gy oy

ou  Ov

gbooooboobobooobobooooboboonog
00 5.8 [0000] z=¢(uv),y=¢,v)00000 (¢,y)-00000 DO (u,v)-0000

DEDDDODDDDDDDDDDDDDDDDDDDDDDg&nﬂimommmmmmmm
u, v
ooWooooooooooooooo

[ stasas = [ [ setuor. om0 'm

0000000
1
— 2 2 —
059 (1) D= {z2+y gHDDDc>ODDDDDDDDDI—/Z;;:ZZ;§M@

00000z =rcosf,y =sinf0000FE ={(rn,d)|0<r<L1,0L0<L27r} 0000000
goooooogdor=0,0=0,d=2r0000000000000000O0O0OO0O0OO0OO
Oz Oz . oy . oy o((z,v))
ogd — = 0, — = — 0, — = 0, — = 000000000 —)/——+ =
5 cost, = rsind, - sind, = T COS (. 6))
reos’f+rsinf=r 0000000000 000000000 o0000)000oOoOoo

1 1 27 r 1 P
I:// 7rdrdt:/ / —df dr:27r/ ———dr
Er2+02 o o T2+02 0 7"2+62

00000000000000oo0O0o0 http://math.cs.kitami-it.ac.jp/ kouno/kougi.html 0000000
()pDO0D0DO000O0000 00000000 DOOD 000000000 O0oOn

dudv

28



dt
000000 1000000000000 t=7*+c20000 d—:QTDDDD
r

1+c2 1+62 2

1 1 1
I:27r/ L—dt:ﬂ/ —dt = 7 log te
2 t 2r ) t 62

0ooo
(2) 057(2000000000

I:// |sin(z +y)|dedy D={0ZL2,0<Ly,x+y<2r}
D

Ju Ou

D(u,v) or O 11
= =y—z 0000000000002 = Y = on0oo
USTHYU =Yoo D(z,y ov 9 -1 1
Jdx Oy

ou  Ou

I(u,v) or Oy Iz,y) 1
= =20000000 = _ 00000000000 z=0000

I(z,y) v ov A(u,v) 2 z=0

or Oy

u—v=000y=00 u+v=00 a+y=2r0 u=2r 0000000000zy-00000 DO
w-00000 E={u4+v20u—v20u<2r}0000E0 E={0<u<2r,—u<v<u}
0ooooo

1 1 27 u 21
I = // |Sinu|—dudvz—/ / | sin u|dv du:/ u| sin u|du
D 2 2 0 —u 0

O000sine00000000000000O00O0O 5.7(2)0000000000000O0O0O0ODO
gbooooogd

ggbd s6e 0OOO0OOOOOODO
(1)[2// (x+y)dedy D= {z*+y* <2z}
D

(%[:/xxf+ya¢wy D:{x2+gz§1}m>ab>m

a?

(3)]2// coszcosydedy D={0Lz+y<m, 0z —y< 7w}
D

54 00000
100000000000 200000000000000000

00 5.10 R20O000000 Ay, 4s,...,A4,,..000000000DOO0OOOOOOODO
()0 n000 4,000000

(2)0 n000 A, C A,y CD
(3)D00D0D000000D0D0OD KOOO KCA,000 A4,

000000

(1) f(z,y) 20000 D0O0O0 f(z,y) 20000000000{4,}0 DO0OO0O0O0OO

DD@:/] flz,y)dedy 0000 lim [, 00000000 f(z,y) 0 DOOOOOOOOO
An n—oo

DDDDDDD//f@wMMyDDDD
D

29



(2) googo f($>y) oon f+($7y) = max{f(m,y),()}l] f*(‘r’y) = —min{f(m,y),O} O
0000000 fu(ey) 20, f-(z,y) 200 f(r,y) = f+(z,y) - f-(x,) 0000000

/ /D f+(,y)dady, / /D f- (@, y)dzdyy

000000000 (booooooUoooO0)df(z,y) D DOOOOODOOOOO

//D f(:c,y)dxdy://D f+(m,y)dxdyf//D f-(z,y)dzdy

gooooog

gbooooboobooooboboooobooboboboobooboooobobo

00 5.11 f(z,y) 0D DOOODOOOOOOOOO{A,},{B,}0 DO 2000000000000

lim // f(z,y)dzdy = lim // f(z,y)dzdy
n—oo A'n, n—oo B'n,

ggogoo

gboo sy O0OO0OO00OO0O0OO0OOOCOOOOOOOOOOOODOODOOOOOOOOODbOOn
gooon

W [[ ety D= {ez0y20)
@ [[ Gyt D= {ez0y20)
(3) / /D cos(x? +y?)drdy D = R?
(4)//D(xQ+Iy2)pda:dy D={0<a?+2 <1}

o0
0ooo 5.8 DDDDDDDDDI:/ exp(—2z¥)dz 0000MWO00000000O0O
0

J = // exp(—2? —y?)dedy D= {x=0,y=0}
D

gooooo

(H)000 n000 A, ={0<2,0<y,22+4><n?} 00002 =rcosf,y=rsingd 0000
DDDDDLh:// exp(—2? — y*)dzedy 00000

An

(2)J00000
(@DDDnDDDl%:{ogmgmogygn}DDDDKn:// exp(—x? — y*)drdy O
Bn

n 2
DDDD]Q:{/‘WM—ﬁM* 0000000000
0
(4700000

Mexp f(z) =e/*) 0DODDO0DODDODODODOODOOOOOOOOOOOOOOOOOOO

30



